
GRE VERBAL READING COMPREHENSION 
PASSAGES

                                             … THE MOST FEARED AND DREADED RC! 



An Example of How Carefully You are To Answer the Question According Only to the Evidence in the Text!















RC Hack 1: Map The Passage

Mentally break the passage down:

1. Understand the Key Concepts
2. See each paragraph as a bullet point of the argument
3. Break down difficult sentences by locating the subject of the 

grammatical sentence.
4. Identify the Writer’s Perspective – Understand and Read from 

the Writer’s Perspective
5.  Identify points to ignore -- forget the dependent clause of a 

sentence. 



RC Hack 2: Find the Right Answer Without the 
Passage
Find the Right Answer Without the Passages

Here is an experiment for you to try: TLaL and see if you can guess which answer choices wouldn’t stand up in court, 
even though you haven’t read the passage! This is a question from the Manhattan Prep practice exams.

The passage implies that: 
(A) the Monteverde area may be home to toad or frog species that have not yet been noted by researchers
(B) the Monteverde Cloud Forest Preserve was not large enough to protect the golden toad
(C) only Costa Rican amphibians living near Monteverde have disappeared since the 1980s
(D) if amphibians did not have permeable skin, then they could not act as biological harbingers
(E) more than one third of the world’s amphibian species have become extinct



Without knowing anything except that the passage was about amphibians, you should still be able to eliminate most of the wrong 
answers if you TLaL:

(A) “may be” sounds vague and noncommittal – that would be hard to prove wrong. Sounds good!

(B) “was not large enough.” That sounds really definitive. When we’re talking about protecting a species, is there ever one 
definitive cause? Probably not. A lawyer would probably phrase it as “may not have been large enough,” or “its small size was 
likely a factor,” etc.

(C) The word “only” is a major dealbreaker! It seems pretty unlikely that the passage would prove that no other amphibians 
disappeared in the entire country.

(D) This one is hypothetical. Consider this statement: “If I didn’t teach the GRE, I could not have written blog articles.” Well, in 
that alternate universe, I might be writing other kinds of blog articles! We can almost never make definitive declarations 
about hypothetical realities (unless the passage stated that it was the only way for something to have happened).

(E) This one is awfully specific. “More than one third” implies that we have data on all of the exact numbers. Unlikely! A lawyer 
might say “perhaps as much as one third” or “some scientists theorize that it could be more than a third,” etc.

As it turns out, the correct answer was in fact A! Many of the other answer choices were tempting based on the content of the 
passage (you’ll just have to take my word for it), but we could eliminate them based on language alone.


